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ECONOMICS
PAPER : EC(-401
{ Computer Application in Economics )

Full Maris 0 40
Time : 2 hours
The figures in the right-hand margin indicate marks.
Cuandidates are reguired to give their ansers

in their own words as far as practicable.
Nlustrate the ansieers wherever necessary.

1. Answer any four questions from the tollowing :
2x4=8
fa) What is the purposc of Shapiro-Wilk test?
Write down the hvnetheses of this test.
(b) Define the multiple regression model. How
can yvou estimate it in SPSS?
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What is ANOVA? Write down the steps of
estimaiion of fwo-way ANOVA in SPSS.
What do vou mean by logit model? Write
down the steps of estimation of this model
in STATA.
How do vou distinguish between common
sample and individual sample for multiple
series case?
How do vou create work files in Eviews
software?
Write PORTRAN expressions for the
following :
¢', Remainder of M/N, A > I3 absolute value

of x.

When are these commands used 1in C
programming scant(), printf()?

2. Answer any four questions [rom the following :
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4x4:=16
Write down the steps te test the normality
irr SPSS. Estimate and interpret Zq.,,w., Zk!u
and JB test staiisiics on the basis of the
following information :
Skewness = —0-30. hurtosis = 0-40, Standard
Error of Skewness = 0-15, Standard Error
of Kurtosis = 0-27. Chi-sq {0-05, 2} = 599,
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(bj How to perform F-test and T-test in MS
Excel? Given the following results, what can
you conclude frem F-test and T-test?  2+2
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fc) What is the importance of Post Hoc
cslimation in SPSS for ANOVA? Interpret
the results of multiple comparison of ANOVA
test givenn below
Multiple Comparisons
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" The mean difference is ﬁgmhtdnt at the
0.05 level.
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Interpret the following resuits of the
regression equation to find out the
cffectiveness of three types of medicine
used to treat Covid patients,

. 3 E{
Coefficients
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Where, Dependent variable = Recovery rate
of patienits :

Independent Variables: D1 i1s dummy
variable (Medicine A = 1, 0 otherwise); D2
is dummyv variable (Medicine B = 1, G
otherwise)

What are the steps involved in estimating
regression equation of Y on X using Eviews
software?

How do vou carry on hypothesis testing
using Eviews software?

What is flowchart? Draw a tlowchart to find
the area of triangle.

Write a program in FORTRAN to find the
maximum among three numbers.
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3. Answer any two questions from the following :
&x2=16
fa) Lxplain the summary statistics of a logit
model estimated by STATA. Interpret the
coefficients ol one qualirative and one
quantitative independent variables of a
hypothetical logit model. 5+3
{b) Interpret the estimated results of muiltiple
regression model given below where child
mortality rate [cm) is regressed on female
literacy rate (fir], per capita income (pcy)
and total ferulity rate {tfr).
Model Summary
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a. Predictors: (Consrant), tir, pcy, flr
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a. Predictors: (Constant, tr, pcy, flr
b. Dependent Variable @ cm
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Coefficients®
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a. Dependent Variable @ cm 8

f¢) Wha are the sieps to be followed using
[Eviews to carry on Augmented Dickey-
IFuller test? 8

) Write a program iz C to find the arithmetic
mean ol 1 numbers. [How can vou perform
the same using array in FORTRAN? 543
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